
3/4" shaft

MFG/model number Shaft Bolt pattern Orientation Install Specifics

AR/SRMV22G28D-EZ 3/4” 4 bolts (2 5/8” 
square) Versatile Water connections = versatile

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

100283 2.2 2800/2600 5.5 minimum Aluminum

Website link
https://theropshop.com/shop/products/2800-psi-horizontal-pump-2-2-gpm-w-3-4-shaft-aluminum-head

MFG/model number Shaft Bolt pattern Orientation Install Specifics

AR/RQV25G26D-EZ 3/4” 4 bolts (2 5/8” 
square) Versatile Water connections = versatile

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

100277 2.5 2600/2400 5 minimum Aluminum

Website link
https://theropshop.com/shop/products/2600-psi-horizontal-pressure-washer-pump-2-5-gpm-3-4-shaft

MFG/model number Shaft Bolt pattern Orientation Install Specifics

Himore/308653071
PW28/2.5 3/4” 4 bolts (2 5/8” 

square) Versatile Water connections = versatile

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

100949 2.5 3000/2800 6 minimum Aluminum

Website link
https://theropshop.com/shop/products/pw28-2-5-himore-horizontal-pump-3000-psi-w-aluminum-head

MFG/model number Shaft Bolt pattern Orientation Install Specifics

Himore/309515003
PW28/2.4B 3/4” 4 bolts (2 5/8” 

square) Versatile Water connections = versatile

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

100950 2.5 3000/2800 6 minimum Brass

Website link
https://theropshop.com/shop/products/pw-28-2-4b-himore-horizontal-pump-3000-psi-w-brass-head

MFG/model number Shaft Bolt pattern Orientation Install Specifics

AR/RMV25G30D-EZ 3/4” 4 bolts (2 5/8” 
square) Versatile Water connections = versatile

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

100271 2.5 3000/2800 6 minimum Brass

Website link
https://theropshop.com/shop/products/3000-psi-horizontal-pump-2-5-gpm-w-3-4-shaft

MFG/model number Shaft Bolt pattern Orientation Install Specifics

Himore/CP3625 3/4" 4 bolts (2 5/8” 
square) Horizontal Oil vent cap must point up

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

101357 2.5 3600/3200 6.5 minimum Brass

Website link
https://theropshop.com/shop/products/himore-horizontal-triplex-3600-psi-pump-3-4-shaft

7/8" shaft

MFG/model number Shaft Bolt pattern Orientation Install Specifics

AR/RMW22G24-EZ 7/8" 3 bolts (7 11/16", 6 
3/16", 6 7/16") Vertical Water connections = front

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

100272 2.2 2400/2200 4.5 minimum Aluminum

Website link
https://theropshop.com/shop/products/2400-psi-vertical-pump-2-2-gpm-w-7-8-shaft

MFG/model number Shaft Bolt pattern Orientation Install Specifics

AR/RMW22G24-EZ-SX 7/8" 3 bolts (7 11/16", 6 
3/16", 6 7/16") Vertical Water connections = rear

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

100273 2.2 2400/2200 4.5 minimum Aluminum

Website link
https://theropshop.com/shop/products/2400-psi-vertical-pump-2-2-gpm-w-7-8-shaft-1

MFG/model number Shaft Bolt pattern Orientation Install Specifics

AR/SRMW22G26-EZ 7/8" 3 bolts (7 11/16", 6 
3/16", 6 7/16") Vertical Water connections = front

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

100284 2.2 2600/2400 5 minimum Aluminum

Website link
https://theropshop.com/shop/products/2600-psi-vertical-pump-2-2-gpm-w-7-8-shaft

MFG/model number Shaft Bolt pattern Orientation Install Specifics

AR/SRMW22G26-EZ-SX 7/8" 3 bolts (7 11/16", 6 
3/16", 6 7/16") Vertical Water connections = rear

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

100285 2.2 2600/2400 5 minimum Aluminum

Website link
https://theropshop.com/shop/products/2600-psi-vertical-pump-2-2-gpm-w-7-8-shaft-1

MFG/model number Shaft Bolt pattern Orientation Install Specifics

Himore/308653052 FH
PWV25/2.3 7/8" 3 bolts (7 11/16", 6 

3/16", 6 7/16") Vertical Water connections = front

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

101298 2.3 2800/2600 5.5 minimum Aluminum

Website link
https://theropshop.com/shop/products/pwv-25-2-3-himore-vertical-pump-2800-psi-w-aluminum-head-fh-flipped-head

MFG/model number Shaft Bolt pattern Orientation Install Specifics

Himore/308653052
PWV(R)27/2.3 7/8" 3 bolts (7 11/16", 6 

3/16", 6 7/16") Vertical Water connections = rear

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

100948 2.3 2800/2600 5.5 minimum Aluminum

Website link
https://theropshop.com/shop/products/pwv-1?keywords=100948

MFG/model number Shaft Bolt pattern Orientation Install Specifics

Himore/PWV 24/2.4HB 7/8" 3 bolts (7 11/16”, 6 
3/16”, 6 7/16”) Vertical Water connections = front

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

101632 2.4 2400/2200 4.5 minimum Aluminum

Website link
https://theropshop.com/shop/products/the-rop-shop-2400-psi-vertical-aluminum-head-power-pressure-washer-pump-pwv24-2-4hb-2-4-gpm-7-8-shaft-

front-outlet

MFG/model number Shaft Bolt pattern Orientation Install Specifics

Himore/
PWV(R)24/2.4HB 7/8" 3 bolts (7 11/16”, 6 

3/16”, 6 7/16”) Vertical Water connections = rear

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

101631 2.4 2400/2200 4.5 minimum Aluminum

Website link
https://theropshop.com/shop/products/the-rop-shop-2400-psi-vertical-aluminum-head-power-pressure-washer-pump-pwvr24-2-4hb-2-4-gpm-7-8-shaft-

rear-outlet

MFG/model number Shaft Bolt pattern Orientation Install Specifics

Himore/308418003 
QC APW25/2.3L 7/8" 4 bolts (2 5/8” 

square) Horizontal Oil vent cap must point up

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

800077 2.5 2600/2400 5 minimum Aluminum

Website link
https://theropshop.com/shop/products/2600-psi-pressure-washer-pump-2-3-gpm-7-8-shaft-w-valve-qc-keyway-hardware-100946-101055-trs-keyway-3-16-

x-1-trs-hardware-kit-1

MFG/model number Shaft Bolt pattern Orientation Install Specifics

Himore/308418003 
Threaded APW25/2.3L 7/8" 4 bolts (2 5/8” 

square) Horizontal Oil vent cap must point up

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

800096 2.5 2600/2400 5 minimum Aluminum

Website link
https://theropshop.com/shop/products/2600-psi-pw-24-2-3l-pressure-washer-pump-hz-7-8-short-shaft-w-keyway-100946-trs-keyway-3-16

MFG/model number Shaft Bolt pattern Orientation Install Specifics

Himore/308653035 FH
PWV28/2.5C 7/8" 3 bolts (7 11/16", 6 

3/16", 6 7/16") Vertical Water connections = front

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

101297 2.5 3100/2900 6 minimum Brass

Website link
https://theropshop.com/shop/products/wv-28-2-5c-himore-vertical-pump-3100-psi-w-brass-head-fh-flipped-head

MFG/model number Shaft Bolt pattern Orientation Install Specifics

AR/RMW25G28-EZ 7/8" 3 bolts (7 11/16", 6 
3/16", 6 7/16") Vertical Water connections = front

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

100275 2.5 2800/2600 5.5 minimum Brass

Website link
https://theropshop.com/shop/products/brass-head-2800-psi-vertical-pump-2-5-gpm-w-7-8-shaft

MFG/model number Shaft Bolt pattern Orientation Install Specifics

Himore/308653035
PWV(R)28/2.5C 7/8" 3 bolts (7 11/16", 6 

3/16", 6 7/16") Vertical Water connections = rear

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

100947 2.5 3100/2900 6 minimum Brass

Website link
https://theropshop.com/shop/products/pwv

MFG/model number Shaft Bolt pattern Orientation Install Specifics

AR/RMW25G28-EZ-SX 7/8" 3 bolts (7 11/16", 6 
3/16", 6 7/16") Vertical Water connections = rear

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

100276 2.5 2800/2600 5.5 minimum Brass

Website link
https://theropshop.com/shop/products/brass-head-2800-psi-vertical-pump-2-5-gpm-w-7-8-shaft-1

MFG/model number Shaft Bolt pattern Orientation Install Specifics

AR/RMW25G28D-F7-EZ 7/8" 4 bolts (2 5/8” 
square) Vertical Water connections = versatile

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

100274 2.5 2800/2600 5.5 minimum Brass

Website link
https://theropshop.com/shop/products/2600-psi-vertical-pump-2-5-gpm-w-7-8-shaft-4-bolt-flange

24mm shaft

MFG/model number Shaft Bolt pattern Orientation Install Specifics

AR/RG1528HN 24mm 
inverted

4 bolts (2 3/8” 
square) Horizontal Oil vent cap must point up

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

100268 4 4000/2600 5 for low PSI, 18 
for max PSI Brass

Website link
https://theropshop.com/shop/products/4000-psi-horizontal-pressure-washer-pump-3-96-gpm-24x40-mm-solid-shaft

MFG/model number Shaft Bolt pattern Orientation Install Specifics

AR/RG2125HN 24mm 
inverted

4 bolts (2 3/8” 
square) Horizontal Oil vent cap must point up

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

100269 5.5 3600/2600 5 for low PSI, 18 
for max PSI Brass

Website link
https://theropshop.com/shop/products/3600-psi-horizontal-pressure-washer-pump-5-5-gpm-24x40-mm-solid-shaft

1" shaft

MFG/model number Shaft Bolt pattern Orientation Install Specifics

AR/XMV3G30D-VR54-
200PKG 1" 4 bolts (5 1/4”, 3 1/4”, 

5 3/16”, 4 1/2” Horizontal Oil vent cap must point up

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

100292 3 3000/2800 6 minimum Brass

Website link
https://theropshop.com/shop/products/3000-psi-horizontal-pump-3-gpm-w-vr54-200-plumbed-unloader

MFG/model number Shaft Bolt pattern Orientation Install Specifics

AR/RSV4G40HDF40-EZ 1" 4 bolts (5 1/4”, 3 1/4”, 
5 3/16”, 4 1/2” Horizontal Oil vent cap must point up

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

100282 3 4000/2600 5 minimum Brass

Website link
https://theropshop.com/shop/products/brass-head-4000-psi-horizontal-pump-4-gpm-w-1-shaft

MFG/model number Shaft Bolt pattern Orientation Install Specifics

AR/RKV4G37-VRT-PKG 1" 4 bolts (5 1/4”, 3 1/4”, 
5 3/16”, 4 1/2” Horizontal Oil vent cap must point up

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

100270 4 3700/2600 5 minimum Brass

Website link

https://theropshop.com/shop/products/brass-head-3700-psi-horizontal-pump-4-gpm-w-1-shaft-assembly-w-unloader

MFG/model number Shaft Bolt pattern Orientation Install Specifics

AR/RRV4G40D-F24 1" 4 bolts (5 1/4”, 3 1/4”, 
5 3/16”, 4 1/2” Horizontal Oil vent cap must point up

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

100280 4 4000/2600 5 minimum Brass

Website link
https://theropshop.com/shop/products/brass-head-4000-psi-horizontal-pump-4-gpm-w-1-shaft-pump-only

MFG/model number Shaft Bolt pattern Orientation Install Specifics

AR/RRV4G40D-VRT-PKG 1" 4 bolts (5 1/4”, 3 1/4”, 
5 3/16”, 4 1/2” Horizontal Oil vent cap must point up

The ROP Shop SKU GPM Max PSI/Min PSI Max HP needed Head material

100281 4 4000/2600 5 minimum Brass

Website link
https://theropshop.com/shop/products/brass-head-4000-psi-horizontal-pump-4-gpm-w-1-shaft-assembly-w-unloader


